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7. Rakamlar farkl iki basamakli dért sayin
toplami 129°dur.
Bu sayilardan en blyugu en cok kagtir?
The sum of the four numbers with two
%) different digits is 129. What is the largest
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“Isik Yil” asagidaki buyukluklerden
hanglsmln birimidir?

Which of the following quantities’ unit is light
year?

A) Time_  B)Distance  C) Velocity

D) Acceleration  E) Intensity of the light
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16. Dort basamakii 1AB3 sayisi 5 ile
carpildiginda dort basamakh B86A sayisi

elde ediliyor. Buna gore B rakami kagtir?
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A sayisinin % 40’1 ile B sayisinin % 30’unun
toplami 6°dir. A sayisinin % 25’1 ile B sayisinin %
15’inin toplam1 5’tir. Buna gore A kagtir?

The sum of 40 % of number A and 30 % of number
B is 6. The sum of 25 % of number A and 15 % of
number B is 5. Accordingly, what is the value of A ?
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Asagidaki sayi dizisi belli bir kurala gore yazilmistir.
Buna gore x kagtir?

The number series below is written accordlng toa

rule. Accordingly, what is the v. of x
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v [Dc] ~[ED| -

m(BAC) =x =7
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A)10 C) 15 D) 16 E) 18
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